NO:			



United Independent School District

AGENDA ACTION ITEM

TOPIC:	Approval to Contract with the	e Webb County		
Elections Administr	rator to Conduct November 6, 2012 F	Election		
SUBMITTED BY: Mrs. Norma Farabough OF: Tax Office				
APPROVED FOR	TRANSMITTAL TO SCHOOL BO	OARD:		
DATE ASSIGNED) FOR BOARD CONSIDERATION	N: August 15, 2012		
<u> </u>				

RECOMMENDATION:

It is recommended that the Board of Trustees approve the employment of the Webb County Elections Administrator to conduct the election of single-member districts One (1), Two (2), Four (4) and Seven (7) of the United Independent School District on November 6, 2012.

The estimated cost of the November 6th election is \$20,000.00.

RATIONALE:

The Webb County Elections Administrator has conducted our elections in the past and has provided us with exceptional service.

Early voting sites were reviewed and approved by board members in July 2012.

BOARD POLICY REFERENCE AND COMPLIANCE:

BA Board Legal Status

BBA Board Legal Status: Powers and Duties

BBE Board Members: Authority

BBE (LOCAL) Board Members: Authority

ELECTION CONTRACT AND COST ESTIMATE

UNITED INDEPENDENT SCHOOL DISTRICT JOINT ELECTIONS

(with: Webb County, Cities of Laredo, Rio Bravo, and El Cenizo, Laredo Community College, Laredo ISD, and Webb Consolidated ISD)

NOVEMBER 06, 2012

- (b) The Contracting Officer is the agent of the Entity for the purposes of contacting the third parties with respect to the election expenses within the scope of the Contracting Officer's duties, and the Contracting Officer is not liable for the Entities' failure to pay a claim.
- (c) The Contracting Officer shall file copies of this contract with the County Treasurer and the County Auditor of Webb County, Texas.
- (d) Only the actual expenses directly attributable to the Contract may be charged (Section 31.100(b), Texas Election Code). The County Elections Officer must submit the actual costs incurred pursuant to this Contract to the Governmental Entity within a reasonable amount of time after the election.

COST OF SERVICES

(a) In consideration for the services provided by the Contracting Officer, the Party agrees to pay Webb County their share of the cost of the **November 06, 2012 Joint General Election** in accordance with the following schedule:

September 1, 2012:

\$ 17,183.75

November 30, 2012:

\$ 4,295.94

\$21,479.69

(b) Payment shall be made payable to **Webb County Elections Administrator** and hand-delivered to:

1110 Washington St., Suite 103 Laredo, Texas 78040

Or mailed to:

P. O. Box 29

Laredo, Texas 78042-0029

GENERAL PROVISIONS

- (a) This contract shall be construed under and in accordance with applicable Federal and State laws, and all obligations of the parties created hereunder are performable in Webb County, Texas.
- (b) In case any one or more of the provisions contained in this contract shall for any reason be held to be invalid, illegal, or unenforceable in any respect, such invalidity, illegality, or unenforceability shall not affect any other provision thereof, and this contract shall be construed as if such invalid, illegal, or unenforceable provision had never been contained herein.
- (c) It is understood that in the case of an election contest solely challenging this Party's election results, the cost of such contest, challenge, or litigation will be borne by the Party.
- (d) It is further understood that in the case of a runoff election due to undecided races on the election, the cost of such runoff election will also be borne by the Party and will be contracted for at such time.
- (e) It is also further understood that in a joint election all participating parties share in the cost of such joint election. If one or more parties withdraw, has unopposed candidates, or has circumstances which change the precincts or districts involved in the election, the cost to the other parties will be affected and will consequently be adjusted.

- (f) This contract constitutes the sole and only agreement of the parties hereto and supersedes any prior understanding of written or oral agreement between the parties respecting the written subject matter.
- (g) No amendment, modification, or alteration of the terms hereof shall be binding unless the same is in writing, dated subsequent to the date hereof, and duly executed by the parties hereof.

WITNESS the following signatures and seal:

By		
•	United Independent School District	Date
Ву		
	Oscar Villarreal, Elections Administrator	Date

Table of Contents

- 1 Election Services Contract
- 2 Exhibit A Cost Estimate
- 3 Exhibit B Resolution: Joint Elections
- 4 Exhibit C Resolution: Voting System Approval
- 5 Exhibit D Resolution: Judges' & Clerks' Salaries
- 6 Exhibit E Resolution: C. C. S. Personnel
- 7 Exhibit F Early Voting Schedule
- 8 Exhibit G Election Day Sites
- 9 Exhibit H Gridsheet

EXHIBIT A

LAREDO INDEPENDENT SCHOOL DISTRICT COST ESTIMATE FOR NOVEMBER 6, 2012 JOINT ELECTIONS

1. STATISTICAL INFORMATION

A.	PROJECTIONS November 6, 2012 - United I.	ndevendent School District	
	Early Voting:	F	6,500
	Election Day:	4,945	
	Total voter turnout:		11,445
	Registered voters:		24,000
	Turnout percentage:		47.69%
	ACTUAL TURNOUT		
	Early Voting:		6
	Election Days		(1
	Total voter turnout:		()
	Registered waters:		
	Тикнош регосикаде:		0.00%
			3
C.	Number of election day polling sites:		16
D.	Number of polling sites shared with o	other entities:	16
E.	Number of sub-polling sites due to sp	olits &/or Inside / Outside CL:	28
F.	Number of Public Buildings used as l	Election Day sites:	14
G.	Number of Permanent / Temporary I	Early Voting Branch Sites:	7
H.	Number of Mobile Early Voting Bran	nch Sites:	5
I.	Voting system to be used in:	1. Early Voting:	Optical Scan
			& ADA DREs
		2. Election Day:	Optical Scan
			& ADA DREs
J.	Number of ballots ordered (including a	additional sheets)	
	(Not including sample ballots		100,800

2. COST OF ELECTION OPERATIONS

A TO A T T C	New Colonia Co	Cost	Cost p	er Precinct	No. of Precincts		TOTAL
A. BALLO		 4	2		₩		
1	Official	\$ 45,000.00	\$	130.81	28	\$	3,662.79
2	Coding	\$ 300.00	\$	0.87	28	\$	24.42
3	Sample	\$ 300.00	\$	0.87	28	\$	24.42
4	Test	\$ 300.00	\$	0.87	28	\$	24.42
5	Shipping	\$ 800.00	\$	2.33	28	\$	65.12
B. PROGE	RAMMING						
1	Layout	\$ 2,000.00	\$	5.81	28	\$	162.79
2	Coding	\$ 12,500.00	\$	36.34	28	\$	1,017.44
3	Audio	\$ 6,000.00	\$	17.44	28	\$	488.37
4	Preventive Maintenance	\$ 3,300.00	\$	9.59	28	\$	268.60
5	Site Support	\$ 4,500.00	\$	13.08	28	\$	366.28
C. RENT							
1	Tabulation/ DRE Equipment	\$ 4,960.00	\$	14.42	28	\$	403.72
2	Pct. 402 - Holy Redeemer Church	\$ 50.00	\$	0.15	28	\$	4.07
3	Pct. 310 - Christ Miracle Center	\$ 50.00	\$	0.15	28	\$	4.07
4	Pct. 124 - St. Joseph Church Hall	\$ 50.00	\$	0.15	28	\$	4.07
5	Pct. 122 - Christ Church Episcopal	\$ 50.00	\$	0.15	28	\$	4.07
6	Pct. 225 - Roche Residence	\$ 50.00	\$	0.15	28	\$	4.07
7	Pct. 128 - Templo Revelacion	\$ 50.00	\$	0.15	28	S	4.07
8	Pct. 451 - Gallagher Apartments	\$ 50.00	\$	0.15	28	\$	4.07
D. KITS							
1	Early Voting	\$ 450.00	\$	1.31	28	\$	36.63
2	Election Day	\$ 2,065.00	\$	6.00	28	\$	168.08
3	Ballot Board	\$ 10.00	\$	0.03	28	\$	0.81
4	Shipping	\$ 250.00	\$	0.73	28	\$	20.35
E. MISCEI	LLANEOUS						
1	Publication - Testing of Equipment	\$ 300.00	\$	0.87	28	\$	24.42
2	Publication - Notice of Election	\$ 2,000.00	\$	5.81	28	\$	162.79
3	Election Day Supplies	\$ 3,000.00	\$	8.72	28	\$	244.19
4	Early Voting Supplies	\$ 750.00	\$	2.18	28	\$	61.05
5	Gasoline - EV Vehicles	\$ 500.00	\$	1.45	28	\$	40.70
6	Postage - Mail Ballots	\$ 250.00	\$	0.73	28	\$	20.35

3. COST OF EARLY VOTING PERSONNEL

A.	MAIN	SITE		Cost	Cost po	er Precinct	No. of Precincts		TOTAL
	1	Webb County Administrative Buil	\$	4,788.88	\$	13.92	28	\$	389.79
В.	PERM	ANENT BRANCH SITES							
	2	Finley Elementary	\$	4,788.88	\$	13.92	28	\$	389.79
	3	Providence Health Center	\$	7,762.75	\$	22.57	28	\$	631.85
	4	City Hall Annex	\$	4,788.88	\$	13.92	28	\$	389.79
	5	Cigarroa Recreation Center	\$	7,762.75	\$	22.57	28	\$	631.85
C.	TEMP	ORARY BRANCH SITE							
	6	El Cenizo Comm. Ctr - El Cenizo	\$	4,788.88	\$	13.92	28	\$	389.79
	7	Henry Cuellar Library - Rio Brav	\$	4,788.88	\$	13.92	28	\$	389.79
D.	MOBI	LE BRANCH SITES							
	8	Mobile Branch # 1 (WCISD)	\$	6,275.81	\$	18.24	28	\$	510.82
	9	Mobile Branch # 2 (LISD)	\$	6,275.81	\$	18.24	28	\$	510.82
	10	Mobile Branch #3 (UISD)	\$	6,275.81	\$	18.24	28	\$	510.82
	11	Mobile Branch #4 (LCC)	\$	6,275.81	\$	18.24	28	S	510.82
	12	Mobile Branch #5 (COL)	\$	6,275.81	\$	18.24	28	\$	510.82
D.	BALLO	OTS BY MAIL							
	13	Mail-In Ballots	\$	3,250.00	\$	9.45	28	\$	264.53
E.	EV TE	CH SUPPORT:							
	1	Coding Installation	\$	500.00	\$	1.45	28	\$	40.70
	2	Testing & Preparation	\$	3,000.00	\$	8.72	28	\$	244.19
	3	L & A Testing	\$	1,000.00	\$	2.91	28	\$	81.40

4. COST OF ELECTION DAY PERSONNEL

Α.	PREC	INCT JUDGES AND CLERKS		Cost	Cost p	er Precinct	No. of Precincts	TOTAL
I Me	I I LUI	THE TOPOLOGICAL CENTRES		♥			\forall	
	1	Judges	\$	8,400.00	\$	24.42	28	\$ 683.72
	2	Delivery Fee	\$	1,500.00	\$	4.36	28	\$ 122.09
	3	Clerks	\$	31,080.00	\$	90.35	28	\$ 2,529.77
В.	C.C. S	TATION & EV BALLOT BOARD						
	1	Judge	\$	140.00	\$	0.41	28	\$ 11.40
	2	Signature Verification	\$	906.50	\$	2.64	28	\$ 73.78
	3	CCS Clerks	\$	388.50	\$	1.13	28	\$ 31.62
	4	Receiving Clerks	S	231.25	\$	0.67	28	\$ 18.82
	5	Maintenance Clerks	\$	740.00	\$	2.15	28	\$ 60.23
C.	TECH	NICAL AND SUPPORT PERSONNE	T					
·.					2742			
	1	Tabulation Supervisor	\$	650.00	\$	1.89	28	\$ 52.91
	2	Tabulation Team Members	\$	3,000.00	\$	8.72	28	\$ 244.19
	3	Administrative Personnel	\$	2,400.00	\$	6.98	28	\$ 195.35
	4	Technical Support	\$	1,800.00	\$	5.23	28	\$ 146.51
	5	Security Personnel	\$	3,150.00	\$	9.16	28	\$ 256.40
	6	School & Site Personnel	\$	6,372.00	\$	18.52	28	\$ 518.65

5. TOTALS

A.	. ELEC	TION OPERATIONS				\$	7,316.22
В.	EARL	Y VOTING PERSONNEL				\$	6,397.59
C.	ELEC	ΓΙΟΝ DAY PERSONNEL				\$	4,945.44
						\$	18,659.25
D.	1 2	Early voting Election day Election day	7.65% x \$ 7.65% x \$ 000.00 in a single year.	\$ \$ \$	489.42 378.33 867.74	\$	867.74
E.	SUBTO	TAL OF CONTRACT				\$	19,526.99
F.	COUNT	Y ADMINISTRATIVE FEE (10% of E)				\$	1,952.70

G. TOTAL ESTIMATED COST:

\$ 21,479.69

EXHIBIT B

RESOLUTION FOR JOINT ELECTIONS

WHEREAS, the Board of Trustees of the UNITED INDEPENDENT SCHOOL DISTRICT desires to enter into a Joint Election Services Contract with Webb County and the Webb County Elections Administrator as the County Election Officer and Early Voting Clerk; and

WHEREAS, the Commissioners Court of the County of Webb, in order to share the cost among the participating entities and make the voting process easier and more accessible to the voters and taxpayers of the county, also desires to conduct its election jointly;

NOW THEREFORE BE IT RESOLVED BY THE BOARD OF TRUSTEES OF THE UNITED INDEPENDENT SCHOOL DISTRICT OF THE COUNTY OF WEBB, TEXAS, THAT:

Said Board of Trustees gives authorization to conduct its General Election jointly with the County of Webb, the City of Laredo, the City of Rio Bravo, the City of El Cenizo, the Laredo Community College District, the Laredo Independent School District, and the Webb Consolidated Independent School District with Oscar Villarreal, Webb County Elections Administrator, serving as Early Voting Clerk and managing the conduct and supervision of the **Joint Elections** to be held **November 6, 2012.**

PASSED AND A	APPROVED THIS	DAY OF	, 2012.
	United Independent	School District	

EXHIBIT C

RESOLUTION VOTING SYSTEM

RESOLUTION AND ORDER FOR THE **UNITED INDEPENDENT SCHOOL DISTRICT** TO APPROVE AND ADOPT ELECTION SYSTEMS AND SOFTWARE'S ("ES&S") *IVOTRONIC* DIRECT RECORD ELECTONIC ("DRE") VOTING SYSTEM TO BE USED IN CONJUCTION WITH THE ELECTRONIC ("OPTICAL SCAN") VOTING SYSTEM AT EACH AND EVERY EARLY VOTING AND ELECTION DAY SITE FOR THEIR NOVEMBER 6, 2012 JOINT GENERAL ELECTION UNDER THE SUPERVISION OF THE WEBB COUNTY ELECTIONS ADMINISTRATOR IN ORDER TO COMPLY WITH THE FEDERAL HELP AMERICA VOTE ACT ("HAVA").

WHEREAS, the UNITED INDEPENDENT SCHOOL DISTRICT recognizes that it must comply with public law by approving and adopting a voting system to comply with the Help America Vote Act ("HAVA") requirements; and

WHEREAS, the Commissioners Court of the County of Webb, in its regular meeting of February 14, 2005, approved the creation of a Direct Record Electronic Committee to review voting systems certified by the State of Texas, Office of the Secretary of State, and recommended a voting system to be used in Webb County that complied with said HAVA requirements; and

WHEREAS, upon the DRE Committee's recommendation, the Commissioners Court of the County of Webb, on their regular meeting of May 23, 2005, unanimously passed and approved Election Systems and Software's *iVotronic* DRE voting system which not only provides a viable alternative voting system while also enhancing the county's current electronic ("Optical Scan") voting system but complies with HAVA requirements and with the Americans with Disabilities Act ("ADA") requirements as well; and

WHEREAS, the UNITED INDEPENDENT SCHOOL DISTRICT, authority in charge of its 2012 General Election, has contracted with the Webb County Elections Administrator for the conduct and supervision of its Joint General Election to be held on the 6th day of November, 2012 jointly with the County of Webb, the City of Laredo, the City of Rio Bravo, the City of El Cenizo, the Laredo Community College District, the Laredo Independent School District, and the Webb Consolidated Independent School District;

THEREFORE, BE IT RESOLVED AND ORDERED BY THE UNITED INDEPENDENT SCHOOL DISTRICT, that the Board of Trustees of the UNITED INDEPENDENT SCHOOL DISTRICT approves and adopts Election Systems and Software's ("ES&S") *iVotronic* DRE voting system to be used at each and every early voting and election day polling site in conjunction with the existing electronic ("Optical Scan") voting system, currently owned and operated by the County of Webb in the conduct of elections, for its Joint General Election to be held November 6th, 2012.

United Independent School District

EXHIBIT D

RESOLUTION

AUTHORIZING AND ESTABLISHING SALARIES FOR ELECTION DAY PRESIDING JUDGES AND CLERKS; APPOINTING OF ELECTION DAY PRESIDING JUDGES; AND ESTABLISHING THE MAXIMUM NUMBER OF ELECTION DAY CLERKS FOR EACH ELECTION PRECINCT PURSUANT TO SECTIONS 32.091(a), 32.005 & 32.033, TEXAS ELECTION CODE, FOR THE NOVEMBER 6, 2012 JOINT ELECTIONS

WHEREAS the provisions of Section 32.091 (a), Texas Election Code, state that a political subdivision's governing body has the authority to set election workers' compensation rate at or above the federal minimum wage; and

WHEREAS the provisions of Section 32.005, Texas Election Code, state that election judges shall be appointed for each election ordered by the political subdivision; and

WHEREAS the provisions of Section 32.033, Texas Election Code, state that the political subdivision shall prescribe the maximum number of clerks that each presiding judge may appoint for their election precinct; and

WHEREAS the Board of Trustees of the UNITED INDEPENDENT SCHOOL DISTRICT believes that in order to provide the voters of the district with professional and exceptional service, a fair and reasonable wage is important and should be provided to election judges and clerks serving in this election; and

THEREFORE, BE IT RESOLVED AND ORDERED by the Board of Trustees of the UNITED INDEPENDENT SCHOOL DISTRICT, that pursuant to Section 32.091 (a), Texas Election Code, the compensation rate for election day presiding judges and clerks for the November 6, 2012 Joint Elections, and any subsequent runoff election, is established and approved as follows:

Election Day and Early Voting Presiding Judges: \$ 10.00 / Hr.

Election Day and Early Voting Clerks: \$ 9.25 / Hr.

BE IT FURTHER RESOLVED AND ORDERED by the Board of Trustees of the **UNITED INDEPENDENT SCHOOL DISTRICT**, that pursuant to Sections 32.005 & 32.033, the following be appointed to serve as election day presiding judges in their respective precincts with the maximum number of clerks to assist in the November 6, 2012 Joint Elections, and any subsequent runoff election, as follows:

Pct. Location Judge Max # of Clerks

125	Roche Residence	Aide Martinez	5
226	Webb Appraisal District	Leticia Ramos	5 5
227	B. Johnson Center (SAC)	Carlos Castillo	5
	Crypholes bright his trips	A Nasa refereblik	
231	Salinas Elementary School	Reynaldo Campos	5
132	Prada Elementary School	Kazandra Jasso	5
133	Centeno Elementary School	Andrea Lerma Morales	5 5 5
134	United DD Hachar Elem.	Ramiro Torres	5
135	El Cenizo Community Ctr.	Jeanette Chavez	5
244	0.1.0 t D :1 El	D: D :	_
344	Col. Santos Benavides Elem.	Diana Barrios	5 5
345	United 9 th Grade Campus	Daniel Perales	5
2.40	XX 1: 1XX 1 0 1 1 0 X	Addison the Property	_
349	United High School (New)	Humberto Escobedo	5
350	Callaghan Ranch	Victor Rendon	5
252	United South High School	Elizabeth Araiza	5
154	L B J High School	Maria Rosario Zamarron	5
356	Borchers Elementary	Rosario Amesquita	5
	20.0110110 Diemontary	resure i inesquita	J
	a. With Ething and John Jo		
359	Doctor's Hospital	Fidel Flores	5

EXHIBIT E

RESOLUTION CENTRAL COUNTING STATION PERSONNEL

WHEREAS the provisions of Section 127.001(a), Texas Election Code, authorize the processing of electronic voting system results in a central counting station and set guidelines to the establishment and organization of said central counting station; and

WHEREAS the Board of Trustees of the UNITED INDEPENDENT SCHOOL DISTRICT desires to establish a central counting station and appoint personnel to process optical scan mail ballots, early vote and election day ballots as well as early voting and election day ballots cast electronically on the iVotronic DRE voting units for the November 6, 2012 Joint General Elections, in accordance with Chapter 127, Texas Election Code; and

WHEREAS said Board of Trustees of the UNITED INDEPENDENT SCHOOL DISTRICT believes that the processing of these ballots in a central counting station will ensure that they will be processed in a fair and impartial manner thus securing the purity of the election; and

THEREFORE, BE IT RESOLVED AND ORDERED by the Board of Trustees of the UNITED INDEPENDENT SCHOOL DISTRICT that pursuant to Chapter 127, Texas Election Code, a central counting station is hereby established at the following location, that the following personnel be appointed to serve as stated in said central counting station, and that their respective salaries be established and approved as follows:

(127.001) Central Counting Station Location:	Billy Hall, Jr. Administration 1st Floor Conference Room 1110 Washington St. Laredo, Texas 78040	ive Building n (1A)
(127.002) Central Counting Station Manager:	Oscar Villarreal	No Fee
(127.003) Tabulation Supervisor:	John Ornes, III	\$ 650.00
(127.004) Assistant Tabulation Supervisors:	Hilda Trevino Tanya Abrego Jaime Garcia Priscilla Trevino Joseph Hernandez	\$ 600.00 \$ 600.00 \$ 600.00 \$ 600.00
(127.005) Presiding Judge of Counting Station:	Armando X. Lopez	\$ 10.00/ Hr

United Independent School District

EXHIBIT F

EARLY VOTING SCHEDULE NOVEMBER 6, 2012 JOINT GENERAL ELECTIONS

MAIN EARLY VOTING SITE

Billy Hall, Jr. Admi	nistrative Building,	1110 Washington St.	
Monday,	Oct. 22 thru Friday,	Oct. 26, 2012	8:00 am to 5:00 pm
Saturday,	Oct. 27, 2012		8:00 am to 8:00 pm
Sunday,	Oct. 28, 2012		1:00 pm to 6:00 pm
Monday,	Oct. 29 thru Friday,	Nov. 02, 2012	8:00 am to 8:00 pm
PERMANENT BRANCH	EARLY VOTING SI	TES	
Finley Elementary S	School, 2001 Lowry R	d.	
Monday,	Oct. 22 thru Friday,	Oct. 26, 2012	8:00 am to 5:00 pm
Saturday,	Oct. 27, 2012		8:00 am to 8:00 pm
Sunday,	Oct. 28, 2012		1:00 pm to 6:00 pm
Monday,	Oct. 29 thru Friday,	Nov. 02, 2012	8:00 am to 8:00 pm
Providence Health	Center, 230 Calle Del	Norte	
Monday,	Oct. 22 thru Friday,		9:00 am to 6:00 pm
Saturday,	Oct. 27, 2012	Oct. 20, 2012	9:00 am to 9:00 pm
Sunday,	Oct. 28, 2012		1:00 pm to 6:00 pm
Monday,	Oct. 29 thru Friday,	Nov. 02, 2012	9:00 am to 9:00 pm
wionday,	oct. 27 that inday,	1101. 02, 2012	2.00 am to 2.00 pm
City Hall Annex Bu	ilding, 1102 Bob Bull	ock Loop	
Monday,	Oct. 22 thru Friday,	Oct. 26, 2012	9:00 am to 6:00 pm
Saturday,	Oct. 27, 2012		9:00 am to 9:00 pm
Sunday,	Oct. 28, 2012		1:00 pm to 6:00 pm
Monday,	Oct. 29 thru Friday,	Nov. 02, 2012	9:00 am to 9:00 pm
Cigarroa Recreation	n Ctr, 2201 Zacatecas	St.	
Monday,	Oct. 22 thru Friday,		9:00 am to 6:00 pm
Saturday,	Oct. 27, 2012		9:00 am to 9:00 pm
Sunday,	Oct. 28, 2012		1:00 pm to 6:00 pm
Monday,	Oct. 29 thru Friday,	Nov. 02, 2012	9:00 am to 9:00 pm
	• 000		-

TEMPORARY BRANCH EV SITES

El Cenizo Community Center, 3519 Cecilia Ln., El Cenizo, 1x			
Monday,	Oct. 22 thru Friday,	Oct. 26, 2012	8:00 am to 5:00 pm
Saturday,	Oct. 27, 2012		8:00 am to 8:00 pm
Sunday,	Oct. 28, 2012		1:00 pm to 6:00 pm
Monday	Oct 29 thru Friday	Nov. 02, 2012	8:00 am to 8:00 nm

	1804 C	T. (T.		
	brary, 1701 Centeno Ln., Ric		0.00 am ta	5.00
Monday,	Oct. 22 thru Friday, Oct.	26, 2012	8:00 am to	
Saturday,	Oct. 27, 2012		8:00 am to	
Sunday,	Oct. 28, 2012	02 2012	1:00 pm to	
Monday,	Oct. 29 thru Friday, Nov	. 02, 2012	8:00 am to	8:00 pm
TEMPORARY MOBILE	E BRANCH EV SITES			
Mobile Branch #1 (WC)	ISD)			
WCISD Tax Office	e, 619 Ave F, Bruni, Tx	Oct. 22	9:00 am to	5:00 pm
	e, 619 Ave F, Bruni, Tx	Oct. 23	9:00 am to	5:00 pm
	e, 619 Ave F, Bruni, Tx	Oct. 24	9:00 am to	5:00 pm
	e, 619 Ave F, Bruni, Tx	Oct. 25	9:00 am to	5:00 pm
	e, 619 Ave F, Bruni, Tx	Oct. 26	9:00 am to	5:00 pm
WCISD Tax Office	e, 619 Ave F, Bruni, Tx	Oct. 26	9:00 am to	8:00 pm
	ry, 300 Despain St, Oilton	Oct. 28	12:00 am to	
Oilton Elem. Libra	ry, 300 Despain St, Oilton	Oct. 29	9:00 am to	8:00 pm
E. Salinas Comm. 0	Ctr, 917 N. Main, Mirando	Oct. 30	9:00 am to	8:00 pm
E. Salinas Comm. (Ctr, 917 N. Main, Mirando	Oct. 31	9:00 am to	8:00 pm
E. Salinas Comm. (Ctr, 917 N. Main, Mirando	Nov. 2	9:00 am to	8:00 pm
E. Salinas Comm. 0	Ctr, 917 N. Main, Mirando	Nov. 1	9:00 am to	8:00 pm
Mobile Branch #2 (LISI	D)			
	· · · · · · · · · · · · · · · · · · ·		0.00	7 00
Farias Elementary,		Oct. 22	9:00 am to	-
Daiches Elementary	· ·	Oct. 23	9:00 am to	
	, 2900 N. Malinche Ave.	Oct. 24	9:00 am to	-
	tary, 2702 Bismark St.	Oct. 25	9:00 am to	
Ligarde Elementary	y, 2800 S. Canada Ave.	Oct. 26	9:00 am to	5:00 pm
MacDonnell Eleme	ntary, 1606 Benavides St.	Oct. 27	9:00 am to	8:00 pm
	mentary, 211 E. Ash St.	Oct. 28	1:00 am to	6:00 pm
Martin High Schoo	l, 2000 San Bernardo Ave.	Oct. 29	9:00 am to	8:00 pm
	ry, 1700 W. Anna Ave.	Oct. 30	9:00 am to	8:00 pm
Alma Pierce Eleme	ntary, 800 E. Eistetter St.	Oct. 31	9:00 am to	8:00 pm
	ool, 2600 Zacatecas St.	Nov. 1	9:00 am to	8:00 pm
	ntary, 3801 Santa Maria Ave.	Nov. 2	9:00 am to	8:00 pm

Mobile Branch #3 (UISD)				
Prada Elementary, 510 Soria Dr.	Oct. 22	9:00 am to	6:00 pm	
Perez Elementary, 500 Sierra Vista Dr.	Oct. 23	9:00 am to	6:00 pm	
Cuellar Elementary, 6431 Casa Del Sol	Oct. 24	9:00 am to	6:00 pm	
Col. Santos Benavides, 10702 Kirby Dr.	Oct. 25	9:00 am to	6:00 pm	
Bonnie Garcia Elem., 1453 Concord Hills	Oct. 26	9:00 am to	6:00 pm	

	Salinas Elementary, 1000 Century Dr.	Oct. 27	9:00 am to 8:00 pm	
	Malakoff Elementary, 2810 Havana Dr.	Oct. 28	1:00 am to 6:00 pm	
	United High School, 2811 United Ave.	Oct. 29	9:00 am to 8:00 pm	
	L. B. J. High School, 5626 Cielito Lindo	Oct. 30	9:00 am to 8:00 pm	
	Alexander High School, 1600 E. Del Mar	Oct. 31	9:00 am to 8:00 pm	
	United South HS, 4001 Ave. Los Presidentes	Nov. 1	9:00 am to 8:00 pm	
	Trautman Middle, 8501 Curly Ln.	Nov. 2	9:00 am to 8:00 pm	
	Trauman Middle, 8301 Curry En.	NOV. Z	3.00 am to 8.00 pm	
Mobi	le Branch # 4 (LCC)			
	LCC - Yeary Library, W End Washington St.	Oct. 22	9:00 am to 6:00 pm	
	LCC - Yeary Library, W End Washington St.	Oct. 23	9:00 am to 6:00 pm	
	LCC - Yeary Library, W End Washington St.	Oct. 24	9:00 am to 6:00 pm	
	LCC - Yeary Library, W End Washington St.	Oct. 25	9:00 am to 6:00 pm	
	LCC - Yeary Library, W End Washington St.	Oct. 26	9:00 am to 12:00 pm	
	Doctor's Hospital, 10700 McPherson Rd.	Oct. 27	9:00 am to 8:00 pm	
	Doctor's Hospital, 10700 McPherson Rd.	Oct. 28	1:00 am to 6:00 pm	
	Doctor's Hospital, 10700 McPherson Rd.	Oct. 29	9:00 am to 8:00 pm	
	LCC South - Billy Hall Ctr, 5500 S Zapata Hwy.	Oct. 30	9:00 am to 6:00 pm	
	LCC South - Billy Hall Ctr, 5500 S Zapata Hwy.	Oct. 31	9:00 am to 6:00 pm	
	LCC South - Billy Hall Ctr, 5500 S Zapata Hwy.	Nov. 1	9:00 am to 6:00 pm	
	LCC South - Billy Hall Ctr, 5500 S Zapata Hwy.	Nov. 2	9:00 am to 12:00 pm	
Mobile Branch # 5 (COL)				
	City Hall of Laredo, 1110 Houston St.	Oct. 22	8:00 am to 5:00 pm	
	City Hall of Laredo, 1110 Houston St.	Oct. 23	8:00 am to 5:00 pm	
	City Hall of Laredo, 1110 Houston St.	Oct. 24	8:00 am to 5:00 pm	
	City Hall of Laredo, 1110 Houston St.	Oct. 25	8:00 am to 5:00 pm	
	City Hall of Laredo, 1110 Houston St.	Oct. 26	8:00 am to 5:00 pm	
	Laredo Medical Center, 1700 E. Saunders St.	Oct. 27	9:00 am to 8:00 pm	
	Laredo Medical Center, 1700 E. Saunders St.	Oct. 28	1:00 am to 6:00 pm	
			*	
	Laredo Medical Center, 1700 E. Saunders St.	Oct. 29	9:00 am to 8:00 pm	
	Laredo Medical Center, 1700 E. Saunders St.	Oct. 30	9:00 am to 8:00 pm	
	Texas A&M Int'l, 5201 University Blvd	Oct. 31	9:00 am to 8:00 pm	
	Texas A&M Int'l, 5201 University Blvd.	Nov. 1	9:00 am to 8:00 pm	
	Texas A&M Int'l, 5201 University Blvd.	Nov. 2	9:00 am to 12:00 pm	

EXHIBIT G

Election Day Sites **NOVEMBER 6, 2012 – Joint General Elections**

Pct.	Location	Address	City
		2400 San Bernacio Ave.	
	Richter Courts Hab		
		1510 Chicago St	
		3801 Santa Maria Ave.	
	Clark Llewentery School		
	'irk iren illemissign vickemi		
125	Roche Residence	218 S. España Dr.	Laredo
226	Webb County Appraisal District	3302 Clark Blvd.	Laredo
227	B Johnson Student Activity Ctr.	5208 Santa Claudia Ln.	Laredo
	Toposto Envelocion		
		2702 Bismark St	
	Cigarros Remasifen Center		
231	Salinas Elementary School	100 Century Dr.	Laredo
132	Prada Elementary School	510 Soria Dr.	Laredo
133	Centeno Elementary School	2710 La Pita Mangana	Laredo
134	D. D. Hachar Elementary School	1003 Espejo Molina Rd.	Rio Bravo
135	El Cenizo Community Center	3519 Cecilia Ln.	El Cenizo
	F. Salliman Community Phys.	OT U.A. Marin	Address de la

Pct.	Location	Address	City
		1300 Alta Vista Dr.	
	Laredo Madical Ctr. Ambulatory	7210 McPherson Rd	Laredo
	Nye Elementary School	101 E. Del Mar Blvd.	
342	JP Precinct 4 Building	8501 San Dario Ave.	Laredo
	United Middle School	700 E. Del Mar Bivd.	
344	Col. Santos Benavides Elem. School	10702 Kirby Ln.	Laredo
345	United 9 th Grade Campus	8800 McPherson Rd.	Laredo
	Flufey Elementary School		
	Maffer Elementary School	4430 Muller Memorial Dr.	
		452 Rancho Penitas	Laredo
349	United High School (New)	2811 United Ave.	Laredo
350	Callaghan Ranch	IH 35 N – 27 Miles OCL	Laredo
351	Laredo Medical Center	1700 E. Saunders St.	
252	United South High School	4001 Ave. Los Presidentes	Laredo
	Lamar Bruni Vergara City Park	202 W. Plum St.	
154	LB Johnson High School	5626 Cielito Lindo Blvd.	Laredo
	Texas ARM int I University	5201 University Blvd.	
356	Borchers Elementary School	9551 Backwoods Trail	Laredo
457	Los Botines Restaurant/Café	469 Well Ln - Hwy 83 N	
	 Washington Widdle School 	10306 River Bank Dr.	
359	Doctors Hospital	10700 McPherson Rd.	Laredo
	Fullagher Garden apts		